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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Lanquage

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

In spite of the shock that Snowball's expulsion had given them, the animals were dismayed by this
announcement. Several of them would have protested if they could have found the right
arguments. Even Boxer was vaguely troubled. He set his ears back, shook his forelock several
times, and tried hard to marshal his thoughts; but in the end he could not think of anything to say.
Some of the pigs themselves, however, were more articulate. Four young porkers in the front row
uttered shrill squeals of disapproval, and all four of them sprang to their feet and began speaking at
once. But suddenly the dogs sitting round Napoleon let out deep, menacing growls, and the pigs
fell silent and sat down again.

1) Who let out growls?

psowa. | @CHOTfWoOrld.In

B) Boxer.
C) Pigs.
D) Dogs.

2) By which announcement were the animals dismayed?

A) Expulsion of Snowball.
B) Protest of the animals.
C) Making of a new farm.
D) Growls of the animals.

3) Which animals were more articulate?

A) Boxer.

B) Pigs.

C) Snowball.
D) Dogs.
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4) Why couldn't the animals protest?

A) They were tired.
B) They were tied up.

C) They did not find the right arguments.
D) They couldn't talk.

5) Who uttered squeals of disapproval?

A) Yorkers.

B) All animals.
C) Dogs.

D) Pigs.

6) Fill in the blank with the correct option:

He for the welfare of the society and not just himself ,so the people
for his broad outlook.

»omemase 1 €CHOTWOTId. IN

B) preys, prays
C) praise, prays
D) praise, preys

him

7) A task done for the love of a person or for the work itself is called as

A) love of labour
B) labour to love
C) love for duty

D) labour of love

8) Fill in the blank with correct prefix or suffix:

No one thought that the upcoming author could cend Shakespeare.

A) pre
B) pro
C) trans
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D) up

9) Which of the following words is correctly spelt?

A) calaus
B) callas
C) callous
D) callus

10) Which of the follwing person's name is also called as the man of the cloth?

A) a steward

B) a peon TeChOfWOrId.In

C) a clergyman
D) a carpenter
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following materials contracts when heated or warmed?

A) Graphite
B) Wood
C) Iron

D) Rubber

11) qaa &2 g9 626m SENYL ANG ANIQ 604 AERITE 6RIRAIN ?

A) @<
B) @10

C) @l
D) e<a

12) Other than India, in which of the following countries residuary powers go to the union
government?

s Techofworld.In

B) Canada
C) USA
D) France

12) Quee Q4616 FQRT6 62498 AN 624 2938 93 609 ANRIAG QRIS ?

A) 25@
B) @Ie!
C) 2isedel

D) €1}

13) Members of the University Grants Commission include -

A) Chairman and Vice-chairman
B) President and Vice-president
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C) Education Minister and Vice-president
D) Prime Minister and Vice-president

13) F¢INIRD 2QAIR AICAITR AQAAIRE ARUER IAIER AIES -

A) 2R N6 Q0-UUY

B) QAUFAS I QA-AUFAG
C) 811 1&* aa-QIgad
D) guieqal 9&* 2a-aigad

14) Which one of these statements about the Kasturirangan Committee is false?

A) Universalization of pre-primary education

B) Pedagogical Structure with 5+3+3+4 design
C) Physical restructuring of schools

D) Provide foundational literacy/numeracy for all

W

14) 4@ YRAGYES M egIeas FiE Sa06a 6REE fay 26 ?

A) g< glifie daie ARG Te C h OfWO rI d . I n

B) s+m+n+y GRI00e 6898Q gaiet
C) dQIRgEea fEQH gas G0
D) anes aid 66109 AI[AG!/ AFEIRIR RIQ JIIQ

15) According to NCF 2005's position paper in Curricular Areas, at secondary stage Science,
students should be

A) introduced to science as separate disciplines with emphasis on technology and problem
solving

B) engaged in learning science as a composite discipline, in working with hands and tools

C) engaged in learning principles of science through familiar experiences, working with hands to
design simple technological units

D) engaged in joyfully exploring the world around and harmonising with it

15) aioign 68g6@ NCF 9008a saigae saaa agaial, arnfe adyaca S8Ieq, 2I9aee° R
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A)  6c6qIeRIR e ANAIR AARIF RAER QRQ 69 FRIAQ Y@ Qae YIIYR aeea a8Fe aISR

B) o e aaeas a6 qidy @ael QIR ARINQ IR GO AQANAR AR FEAFE QUSRI

C) 618l ATRGI ARIACR AR 6FVAR GAE, TG, AARIEA, UG ARG AINCR IRIPA JAI F1EQ FEAFE FAITR
D) ReEa QIS QRUIQ U6QAE @GR! I6° 121 A6 qANaQ FEAFE RS
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there between 20th alphabet from the right and 4th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) 10
B) 12
C)13
D) 15

16) 660697 2HEYQY AR GFER ARIAIN, GIRIEQ 9060 Qe ¥e* GIRIEQ 68 @d ANIEa EREVIT aaa QARA 2

A) co
B) ¢9
C) em
D) ¢s

17) In a certain code language, if the word AMOUNT is coded as MAUOTN, then how will the word
CLOSED be coded in that language?

neseor Techofworld.In

C) CLODSE
D) LCSODE

17) <@ 5da caie aisica, a8 AMOUNT ae MAUOTN «iese soie 62108, 606 CLOSED @eG Q 62 QISIEe F0R 6QIQ,
QQl Q2

A) CSELOD
B) LSCOED
C) CLODSE
D) LCSODE

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

There are five boxes P,Q,R,S and T. Which of the boxes is the heaviest?

I. The sum of the weights of P and Q is the same as the sum of the weights of the other three.

II. Q is heavier than only S. T is heavier than both P and R.

> Techofworld.In
C)3
D) 4

18) QMY 999eesa 536 @09 :
2@ QQ€! | anaiia ARAQ caaIg Acae 26T |

ad @4 Il vgda anavie AR caalg acae 26T |
0. 26 FRQE | 9e || aeag IR0 F2ITE 6660 ANIQ ANA 69e! Al AU 266 |

¥. 96 Q98 | v Il eeag <ei0 Aube 606 @ aaue Q@A e ae adug qed |

P, Q, R, S wer T ared aiq 28 | 1@auig 694 QIQf 990IQ 28Q 6eGaI 266 ?

l. P 9¢* Q @ 6800 20§ 204 56718 6Rea 62100 R0 ANIR 26T |

Il. Qeqae S 0ig 28 aiet | 0@ P ve* R 019 T 286 BR82Il 266 |

A) ¢
B) ¢
c)m
D) ¥
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19) One morning, Nitesh left home and cycled 10 km south. Then he turned right and cycled 5 km

and then again turned right and cycled 10 km. Finally he turned left and cycled 10 km. What is the
shortest distance between his final point and his home?

A) 10 Km
B) 15 Km
C) 20 Km
D) 25 Km

19) Gen ARIcR, FEE QQ QIRIG e o FeAIFTR QREEH ARCHR FRINEA | HIACH 62 FIRNEQ 97 8 FEAIFCR AREHR PPINER I&*

Q8 Q1169 QA o FEAIFCR AREAN TRIRAERN | CIER 6Q QNG QA o FEAIACA ARCAN SRIRER | SITa 237 &9 1Q° oIF U
F1UEQ AQ0IQ /¢ Q0! 666 ?

Ao Techofworld.In
C)9o§ﬁ.
D) 98 &4.

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

How long will John take to cover the distance?

I. John covers half the distance at 50 km/hr and remaining half at 40 km/hr.

Il. The total distance to be covered is 100 kilometers.

209 2
BN =

20) YRGS 9996060 536 @09 :
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Q8 QQE! | aniia ARQ saalg A62§ 26T |
ad QQQE! |l vgdal anaie AR caelg 62 26T |
q. 2@ Q8 | ve |l aeog IR0 F2IGe 6060 ANAIR AR 62! Al Adg 26S |

¥. 9@ QQQd | v || aeag 910 SR80 6069 @ ANAIQ ARA 6ol ale adug g6 |

QAE| AGQN QAR PR 6REE ANA Q6 ?

l. 8Q 2l 9e0Ig 8o @F1. 90 QAQI ver 2eds 2l o @F. 90 A9 60 26gn RAB |

1. ageia Qael oo AenIfica 26en QALY 629 |

Techofworld.In

el

A)
B) ¢
C)®
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following is the highest and the oldest advisory board for the government in the field
of education?

A) UGC
B) CABE
C) NCERT
D) NAAC

21) G9Rge AUQ 624G 6208 A9 68Q6Q RIS Al ACAIR Ie° YRAIER AAUALRIS! ?

v Techofworld.In

)

)

C) ¥rdaaed
D) uaad

22) Which of the following may be the most important reason to say that Teaching is a Science?

A) It incorporates methods and languages
B) Itinvolves skill to dissimilate language, maintain interest of the learner
C) Itincorporates systematic method and approach of experimentation and trial

D) Itinvolves emotional aspects of learner like empathy and efficacy

22) 391019 9@ GRS 691R *IQIQ FYAYE MUQ 6946 AQ0IQ FRQYE AINE CRARER ?
A) 2l 986 e° AIBIQF] U9 @6a

B) i8I 3] @44, daIdiea 2Ige @RIa aYR! Ikl 126a A0l 2949

C) 92 @4age 98d 1 aGINd 1 aQI8ER AIRFHIQ 29ES Q6a
D) 1266 8RIEiGe A2IgRs Ie* QIIIAIGE! 08 AIFgRaSl USE9

23) The Ministry of Education for Indian Government established the NCERT in

A) 1960
B) 1961
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C) 1962
D) 1963

23) @ 73I6R NS RIS 2URER FA ARIRA ¥RARRT gOal adaRl

A) e¢0
B) e¢se

C) 99
D) ecom

24) Which of the following was a recommendation of National Policy on Education 19867
A) 3 languages formula

B) RTE

C) Establishment of DIETs

D) 10+2+3 system

24) R9RYe FrIQ 609% RIe1a SAI 918, € ¢T 90 AIRE &R ?

»ee Techofworld.In

C) Sueca goal
D) ¢o + 9 + mQaq

25) Who recommended for the establishment of SBTE?

A) Mudaliar Commission

B) University Grants Commission
C) Service Commission

D) The Kothari Commission

25) 1adfa @ goal el @9 QaIa @adea ?

A) 29RzIe @dee

B) @4@aiea 2QQIe 2Isale
C) 6@ 262

D) 69013 @dae
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26) Summarising, Outlining and Using Concept Maps are strategies of

A) testing to become better test takers

B) rote learning to repeat something long enough to remember the concepts
C) behaviourism to succeed by the trial and error method

D)

note taking which will help students to understand concepts for retention

26) aiera adQl, g1 39998 AfiQl 8 Tae AIRTEYERa MeIa @RI 6208 Qaed |

A
B

QR aNIIg 629IQ asial

) ARGIYEQ A6 QYR AR A62A] AN qmlq@ 2AQIQ gl
C) aemsl e of a8d QI ATR 6241 AR ASQEIY

D) sicisa sndadel aiel signieg died Aid diedl QEI6a AR @GS

27) The teacher gets the students to memorise the multiplication tables by rote learning which they
are able to recall even after the long time. This is the case of

A) short term memory T h f I d I
B) temporary memory eC O WO r = n
C) long term memory
D) immediate memory

27) d9e 210AIeg 949 ANSIYFQ Jad el aidl @223 | AIRIF 6a0I6R Q14 AAG T6Q A ad QARIEa VA 2G| 12! 6208
[

A) 98 fad g8
B) 2901 g8
C) VdeiRie 4o
D) 299 ¢6

28) Learning through the process of observation, scaffolding, and later independent practice is
known as :

A) Programmed Instruction
B) Machine Learning

C) Cognitive Apprenticeship
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D) Discovery Learning

28) adieend, gaIfggs e 06a ARNLRIES AR AIIAER JQ! QULEQ REIGEI |

A) 6919191 *QIAIRERI F6TEIRR
B) 693 &al

C) @96a ziegrdaa

D) 2GR S

29) Read the following statements and choose the CORRECT option.
() The Education Commission was appointed by the Government of India on July 14th, 1974.

(i)The unique feature of the Commission was its conviction that education is the most powerful
instrument of the national development.

A) (i) is TRUE and (ii) is TRUE TeCh OfWO rI d s I n

) (
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

29) Q618 FRQ€IgEq 993 Y9 0] Gag QI8g
(i) 1974 AdQl gRIR 14 SIANER QI9e AARIAE FIAl dQI *T8e FY3 AIRenl

(ii) F1610 IRI8 G168 SR @ AR0IQ 9611 ARIA 6Q1R 9@ F9IA @ 1@ *T9LQ 2R 638y AR

A) (i) Q04 2163 9Q° (i) ALY 2169
B) (i) a0y 265 9Q- (i) 24 26T
C) (i) 29y 2166 9. (i) A 26T

)
)
)
D) (i) 21ae4 2166 9Q° (i) 2AsY 26T

30) The classroom management technique in which a teacher publicly recognises and praise
students is known as

A) entry routine
B) seat signal
C) props
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D) do now

30) 696192 aAaRa O8E 6ALYER REE 2RUIAR RIGAING ATAIQEER ARSI T2 IS g&ral @03 oIRl

ne=s  Techofworld.In
C) zeaqe (99)
D) 96718 @ag

R FENLIN
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Section 5 - Paperll-Odia Lanqguage

No. of Questions: 15

31) QVIQ AT QUG V'€ GRIAN?

A) 48
B) qugl
C) qq
D) aa

32) zia aigiea 626016 @aad 28 ?

»e Techofworld.In

B) er
C) %°
D) 99

33) 3T 64198 — 6Q¢IFE 9T @ IRl 9Q?

A) Qeasy
B) dcaael
C) aa

D) aiqyga

34) ‘Fara’ gea FAQIGIdsaie 4 QI8 |

A) Q8@
B) daa
C) 29
D) 27eQ

35) 40Q QIYECIe FNTIRAE RILIQ F6HIE Il 6TIRAN?
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36) 9,,9,8,9 —493Q @ IRIQ ER YT QRIAN?

A) Gay
B) aay
C) aay
D) cimay

37) ‘9eIQ’ @aQdl g9 SR6Q 624 AIQ 490 ?

»s lechofworld.In

B) &
C) s9l
D) &2

38) ‘2ie ¥GQI’ G016 QF 2e 606E ?

A) Gau 629

B) @IdY ziea @ael
C) @48 @a
D) @age 629

39) ‘ceanq QIR @RIRQI’ QFQ 22 FQa8 @) |

A) 99 2IPAAER AQQ!
B) 2guie AVAER 9QQ
C)29 o8

D) 8@<l @Ge!
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40) '8,8,8 TR TIYER TR 699 ARR YORI T2

A) eeqIe
B) 2ie10

C) @Qaye
D) fou@ie

BATCH3_D.EI.Ed. Odia_12NOV2020

41) ‘ade’ 900 YAQIGIdcoe 60 @18 |

A) FQ8d

B) AQaue
C) zaeel
D) @8a

42) R6QI8 IR 6266 S8S 0ARR gFIea 906 621887

vaoge 1 €CHOTWOTId.IN

B) sqru>6n191
C) gerar-ge-de
D) 6019>9%

43) ‘@eie’ 2deq ‘@0’ goua AGIRAINLR §R5] @18 |

A) aae

B) @asaisiel
C) o10@e

D) f@eige

44) 694 9YPAQ QAGR AET, A9R, FAB 2T QAR 6WET AATT 6a AARSR A6E AT, GIg V' QRIAN?

A) Qeaqy
B) Geaad
C) adqiq

D) aqyer
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45) ‘Gleaa’ §90 AR 40 QI8 |

v | echofworld.In

B) ¢iiaQ
C) Q8
D) aig
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation x - 3 = 8?

A) 4
B) 5
C)6
D) 11

46) @ a 6ad 7R X - 3 = 8 aneaaq A0R @4 ?
A) 4
B) 5

C)6
D) 11

47) In an equilateral triangle AABC, D and E are the mid points of sides AB and AC respectively.
What is the ratio of the area of the smaller triangle AADE to the triangle AABC?

»z | echofworld.In

B) 1:4
CY1:3
D) 2:3

47) <@ aoeig 898 AABC 6o, D e E caigea Q14 AB v AC @ a2 321 AABC age 92 899 AADEe ssgaea 2Qaie
6R66 62 ?

A) 1:2
B) 1:4
C)13
D) 2:3

48) Which of the following number is the smallest number?

A) 1/12
B) 1/6
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C) %
D) 1/3

48) A9Rge el g 6966 MY A°GHI 26T ?

A) 1/12
B) 1/6
C) %
D) 1/3

49) In a school there are 2,500 students. If 45% of them are girls, the number of boys is

A) 1375
B) 1350
C) 1250
D) 1100

49) 9@ dqueasa 2,500 2198191 283 | 9F 6Q0IeE RIQ 45% AFRI QUG 606Q PR Tl 6208

v | echofworld.In

B) 1350
C) 1250
D) 1100

50) Which of the following is a solution of the equation 2x + 3y = 7?

A) x=1, y=2
B) x=2, y=1
C) x=4, y=3
D) x=5, y=4

50) 39Rge mIQ 6266 6208 2X + 3y = 7271080 AARIR ?

A) x=1, y=2
B) x=2, y=1
C) x=4, y=3
D) x=5, y=4

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

51) What is the number of acute angled triangles whose sides are consecutive even numbers and
perimeter is less than or equal to 60 cm?

A) 5
B) 6
e)7
D)8

51) 4@ ggeaIan SQea el 6060 629, AIRIR AIYYFR 6208 QAIGE PY eI Y& ARQIAI Yo 6aFQ @A BRI AAIR 6268 ?

A) 5
B) 6
C)7
D)8

52) If the sum of two numbers is 20 and their HCF and LCM are 1 and 91 respectively, then the
square of one of the numbers is

0  Techofworld.In
C) 36
D) 49

52) 0@ 9af eraue and 20 9e* 620 aAIg I RAIQ AaIRen 1 9 91 26¢, 6669 60T TR 96 6208

A) 16
B) 25
C) 36
D) 49

53) What is the compound interest earned when a sum of ¥ 15,000 is invested for 2 years at a rate
of interest of 20%? [Note: Compounding is done annually]

A) % 3000
B) % 4800
C) % 5400
D) % 6600
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53) 20% qu 2iesa 2 od aie T 15,000 d86ais 626R 028 Q 6266 629 ? [ 996! : QI8Q aise 0R98 eQIAIRAINY

A) 3000
B) % 4800
C) % 5400
D) % 6600

54) % 3,300 is divided among A, B and C in such a way that A gets 2/3rd of what B gets and B gets
1/2 of what C gets. What is the amount received by A?

A) % 300
B) % 600
C) % 900
D) T 1800

54) X 3,300 A, B v C ariea 1ad a1e6a @69 62108 62 @, Be 2/3 aig aigaia e B, C @ 1/2 eue aigaid | 6069 @ 6260
QS A6 ?

v Techofworld.In

C) % 900
D) ¥ 1800

55) Which of the following is a set with 5 elements?

A) The set of consonants in English Alphabet
B) The set of even prime numbers

C) The set of vowels in English Alphabet

D) The set of letters in the word 'ALOOF'

55) GqRee aQ a8 8 § QaIQIe Q26 696 62103 ?

A) SraIR1 QdAINIER AR 626
B) 29 6AI@e Treugfaa 6ae
C) Srais1 QdAIRIea 09 636
D) '¢eeq’ 4960 280Q 69
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56) How many two digit numbers exist such that square of those numbers end with 7?

A) 0
B) 1
o)3
D) 4

56) 6@60I6 9@ 2re 388 el 028 6908 692 PNIGFIR Q¢ 960 668 292

A) 0
B) 1
C)3
D) 4

57) How many straight lines can be drawn using 15 points on a plane out of which 7 points are
collinear?

vis - Techofworld.In

C) 84
D) 75

57) 9@ anee 9a6a 36l 08 & 89 kI 9 § 89 @ ANREONIER 028 | 1B 9960 CIeIA 08 6REOIT ANNEAUIR AFIANAIGS ?

A) 105
B) 85
C) 84
D) 75

58) If (a-b) : (a+b) = 1:11, then what is the ratio of (5a+4b+35) : (5a-4b+7)?

A) 1:5
B) 5:1
Gyt
D) 5:3

58) a@ (a-b) : (a+b) = 1:11 94, eese (5a+4b+35) : (5a-4b+7)a 2gae 6760 629 ?
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A) 1:5
B) 5:1
C)1:1
D) &:3

59) If set A has 5 elements, then the maximum number of elements in a proper subset of the power
setof Ais

A) 32
B) 31
C) 30
D) 25

59) a@ 6ac A 6a 5 § 2aIQie 28, 6662 A @ QIGIR 696 @ AAYS AFEACER ATRIR THIQ QAR 6208

»2  Techofworld.In

C) 30
D) 25

60) A two digit number exceeds the sum of the squares of its digits by 19. The same number exceeds
twice the product of the digits by 44. Which is the number?

A) 72
B) 62
C) 22
D) 12

60) 9@ Qeae 78a e Y2Ia 26giea ade and 0ig 19 289 | 622 AAIR P ACYERR AR QAYEQ XY 98 TR | 638 PeUIT
6Q60 ?

A) 72
B) 62
C) 22
D) 12
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which of the following options is an example of Planetary winds?

A) Chinook

B) Loo

C) Trade Wind
D) Mistral

61) SgRge FRegPe MRIQ 646 geele 19Ra AULRE ?

A) eggeq
B) eeaaee
C) @idsy aeq
D) §16@ aef

62) Which among the following options is approximately near to the exact shape of the Earth as per
the investigations made by scientists?

A) Cylindrical

b Techofworld.In

C) Oblate Spheroid
D) Prismoid

62) 3RIRes Qo @0l AIadel QAL QAN FIATE Feegde AIQ 69¢E gaela A0R 2IQEa FREeR A6E ?

A) GRIRIQ

B) aeeag 294
C) QAo 69IRIRIR
D) gea g4

63) Part IV A of our Constitution is related to ?

A) Citizenship
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B) Fundamental Rights
C) Fundamental Duties

D) Directive Principles Of State Policy

63) ane afdee aua IV A QR ebel

A) R1669Q

B) 663@ ay@iIa
)
)

C) 6£17a @E1QY
D) QIR f16a FeaaiAl

64) The term Veda is derived from the Sanskrit word "Vid" that literally means

A) Knowledge

ssrengn | @CHOfWoOrld.In

C) Meditation
D) Perception

64) 692 g% A°YG IR "AQ" Q QYR 62RT AR A¢ 6208

A) giQ
B) 6@
C) aie
D) diqdl

65) The cinchona tree grows in what kind of vegetation?

A) Tropical Evergreen
B) Tropical Deciduous
C) Mangroove

D) Montane

65) dreqIn 08 6% JRIOa aR6RE6R Q@I ?

A) Q859919 50280
B) @8aten1a agsel
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C) MIega
D) a46ia

66) Which of the following options is referred as "Moho" in the structure of the Earth?

A) The boundary between the crust and mantle of the earth
B) The outermost solid mantle layer of the earth

The interior layer of the earth made up of very heavy materials like nickel and iron
D) The layer right below the mantle of the earth

66) Qda1e 60R6a FREC FRRYER AUIQ 6RLE “6AIR” QRIAN ?

A)

B)
C)
D)

Q10 QOR I 671 ARIYER Q1A
1Q @24 RO 98 9a

@
Q10 QR 0 AN e QLI A& AGIIR NN AAGIER G106

9
9
9
QaQa 6919 06 89l 2

a
2
tJ
a

67) Which state was the first to establish the Panchayati Raj in India after Independence

A) Rajasthan

B) Andhra Pradesh TeCh OfWO rl d = I n

C) Uttar Pradesh
D) Maharashtra

67) AR6! 96Q 609 QIRY NINGER Ja6H FINFAIR goal adgml ?

A) QeI
B) uggeas
C)

)

D) fIgIg,

QRAYEE

68) Which case is related to the theory of basic structure of Constitution as propounded by the
Supreme Court?

A) Gopalan Vs State of Madras

B) Kesavanada Bharati Case Vs State of Kerala
C) Golaknath Vs State of Punjab
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D) SR Bomani Vs Union of India

68) gdneRIce Qal gaide afune 6AIR@ a0ra daIs AB0 6R9 AINRIR ANR 073 ?

A) 69IGIRG QRIA AIGIA AIRY

B) 62QQI0 QIG61 62Q QRIF 620R QIRY
C) SaIRafia QRIA O8I Q1Y

D) 922 6QIAIF QRIA 608 ARIQ

69) Which of the following countries has eleven standard time zones?

A) Saudi Arabia
B) India

C) Japan

D) Russia

69) FqRee 6QEgFR MRIQ 6RUTER IRIRE AIRIT ANG 6RIR, OE ?

vaeae | @chofworld.In

B) @U@
C) ®laie

D) a&al

70) Who among the following had given the slogan 'Do or Die' during ' the All India Congress
Committee in Bombay and ratified the 'Quit India Movement'?

A) Jayaprakash Narayan
B) Jawaharlal Nehru

C) Subash Chandra Bose
D) Mahatma Gandhi

70) 39040 MRIQ A4 26A6Q ‘U A F69QA RAE ANAER ‘@R Q1 AR’ TR CRRYEN I ‘ARG BIS” AICRINAQ AYEAIVR FRYER ?
A) 999RI8 QIRI0E

B) aQieania 6262Q
C) 9918 62 6QI8

D) agiql a1
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71) In the early Vedic period, the king collected taxes from his subjects which was due to him for the
protection granted to his subjects. This tax was known as

A) Dhar
B) Manu
C) Bali

D) Khajna

71) 9I9AQ 6369 QO6Q, QIR AIF JRIAINSOIQ SIF A°FL FAYEA KL AAREQ 67 QIF JRINING Jadl QIR
QQAM | SHIFT IE AINER FEGE Al

»w | echofworld.In

B) ag
C) i@
D) ¢igéll

72) The book "Small is Beautiful", written by Schumacher is about?

A) A beautiful mind

B) Honey bees

C) Resource conservation
D) Nuclear particles

72) gR190& Q0 RYe “9N a8 FAFIR” 1@ Ge0 QU6a ARIGE ?

A) 9@ g0a ae
B) A2a1d

C) @2 Tamq
D) ul6de Q&e

73) The spirit of the makers of the Constitution of India is reflected in

A) The Preamble

B) The Fundamental Rights

C) The Fundamental Duties

D) The Directive Principles of State Policy
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73) \Q6Q a1eea AR FAIGIAIRE 2IQl 9ETRE 6108

A) gaiesl 6Q
B) stige zusia 6Q
C) 6fi6e @994 69

D) qigy a160 Gedanicl 69

74) The Tropic of Cancer lies at approximately

A) 23.5 degrees North of the Equator
B) 66.5 degrees North of the Equator
C) 23.5 degrees South of the Equator
D) 66.5 degrees South of the Equator

74) @4¢ QI3 919 90168 @2

Techofworld.In

A) gaucasia 9.8 391 aRQ6R

B) QARICALIR 99.8 ¢ ARAER
C) Qrueasia 9.8 891 @fieca
D) 9Aueasia 99.8 §g1 @f€6R

75) Poona Pact was signed between among which of the following leaders?

A) Gandhiji and Subash Chandra Bose
B) Ambedkar and M.M.Malaviya

C) Gandhiji and Ambedkar

D) Gandhiji and Lord Irwin

75) GqRge IQ 699 670 RES ARIER gRl 98 ITRE cRIR8RI ?

A) QIR 96* GRI8 0R 6919

B) 2I6A2QQ I&° 101441 FIRGAN
C) GIR®1 9 26N

D) SRS 9e* A6 @aGe
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which reaction produces reddish brown precipitate and becomes soluble in excess of NHsOH?

A) FeCl2 + 2NH4OH — Fe(OH)2 + 2NH4Cl

B) Zn(NO3)2 + NH4OH — Zn(OH)2 + NH4sNO3
C) FeCls + 3NH4OH — Fe(OH)s + 3NH4ClI

D) CuSO4 + NH4OH — Cu(OH)2 + NH4SO4

76) 629 9539 AR eara QAN eae 2980 98 @6 9e* NH4OHQ 2@ 29196 29 7?

A) FeClz + 2NH4OH — Fe(OH)2 + 2NH4ClI

B) Zn(NO3)2 + NH4OH — Zn(OH)2 + NH4NO3
C) FeCls + 3NH4OH — Fe(OH)s + 3NH4ClI

D) CuSO4 + NH4OH — Cu(OH)2 + NH4SO4

77) What type of semiconductor can be obtained from solids showing metal excess defect?

A p ype Techofworld.In

B) n and p type
C) no semiconductor property possible
D) n type

77) uIQe 2owe 96 696Iaae ARQ 604 geIaa 6afiegen dRaide ?

A) p gelea

B) n e p geiea

C) 6@I6d 6afi@aqa Q6 aae Q6%
D) n gaa

78) One Kilo-Watt-hours is equals to how many Joules?

A) 180000 J
B) 3600000 J
C) 540000000 J
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D) 7200000000 J

78) @ Q6RIGIS A9l 6R60 gR AL QAAIQ ?

A) 180000 J

B) 3600000 J

C) 540000000 J
D) 7200000000 J

79) A central pathway that provides a unifying point for many metabolites, which feed in at various
points is called :

A) HMP pathway

B) EMP pathway

C) TCA cycle

D) Calvin cycle

79) @ 6@R1d a2 ARG 2R 661916INQE OIGT @ §Q gole @6, il @@Q areea ge Qﬂ ()Iit'l?L a99999999ad QLIAN |
nwae | @chofworld.In

B) a4e a2

C) Bam @

D) QIRER °1

80) When stamens are attached to the petals they are termed as

A) polyadelphous
B) monoadelphous
C) epiphyllous

D) epipetalous

80) 6606@6R UNINERENYER AYE AR PRY 29, 6AAIRS 2 QRICN

A caReiceaaq
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B) serizicenaq
C) wddaq

D) NadeIng

81) Which among the following can be a possible product when NH3 reacts with excess Cl2?

A) NH4CI
B) N2

C) NCls
D) NHCI2

81) NH3 zeyye Cl2 226 goaal @aiee6r G9age AQ 6296 9@ A2IeY QQIQ 621RAI6R ?

ome 1 echofworld.In

B) N2
C) NCls
D) NHCI2

82) Which among the following statement is CORRECT regarding tetrahedral or octahedral voids in
cubic close packing structures?

A) Number of tetrahedral voids is equal to six times the number of particles in a ccp lattice
structure

B) Number of octahedral voids is equal to the number of particles in a ccp lattice structure

C) Number of octahedral voids is twice the number of particles in a ccp lattice structure

D)

Number of tetrahedral voids is four times the number of particles in a ccp lattice structure

82) Q43 6qIR QIF TAERIEA 6ECINGIA B AQYRQIR NG ANREA FYAYE QITIGER AUQ 6UE A0R 26 ?

A) 608162QIR 9@ CEl 1@ AAT AITIRA AORER RER FHIOIQ B Q4 AL AR
B) 29IgIR Q9@ el 9@ IAT AITIAA 10R6Q @SRl el A6 AAIR
C) 2eiGIR 998 ol v@ A0 AICIRA G0RER RERIQ 01 QRS

D) 66682IR 96 el 9@ 3AT AICIAA FORER Q8QI PHMIOIQ A Q&

83) Calculate the momentum of a toy car weighing 0.4 kg and moving with a velocity of 2 m/s?

A) 0.8 kg m/s
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B) 0.2 kg m/s
C) 0.3 kgm/s
D) 1 kg m/s

83) 2 m/s 9R6296Q QIR 0.4 @Gl BRAQ IR 69RRI RIQ Q A°6AT Q6 621 ?

A) 0.8 kg m/s
B) 0.2 kg m/s
C)0.3kgm/s
D) 1 kg m/s

84) Small channels that directly connect the cytoplasm of neighboring plant cells to each other,
establishing living bridges between cells is called

mresmosome | @CHOTWOrld.IN

B) Mesosomes
C) Plasmodesmata
D) Ribosomes

84) 6gie ArIA ARl AY A8Q 6RINYFR ARECEIYRAY AR PEAIT R6Q, 6AVYFR AU R1FE AId FUG @R SIRIQ
QQIaN

A) QISI6AIeRI7
B) 676Q6R1q
C) aieisaiege
DRERE

85) Which of the following cell organelle is known as cellular housekeepers?

A) Ribosomes
B) Centrioles
C) Nucleus

D) Lysosomes

85) 39Rg06 62 2GIEAR ARIQ 6QUE 6ARAIR, YR AR FEIGE! ?
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A) QIRERIERIA
B) sxgeena

C) f4q0a

D) fiesaisain

86) Which of the following is an example of Sub-aerial stem modifications?

A) Ginger
B) Onion
C) Oxalis
D) Duranta

86) 39Rge MrkIQ 6RAT AQ-IAUR 637 AFICRR IR AULAE ?

»e | echofworld.In

B) dai®
C) 2917
D) giea

87) What will be the total pressure after mixing of the container consisting of two bulbs of equal

volumes separated by a stop cork and containing two gases at initial pressures (before mixing) of
0.3 and 0.5 atm?

A) 0.4 atm
B) 0.8 atm

C) 0.2 atm
D) 1.0 atm

87) @eceaa fgs a6a AYQIA 94 @4 629, Qa6 QAR A7 ABAIEQ IR 80 8¢ QIR g2 Ie* giede qaee (Fge 9eQ) 0.3 ve
0.5 998 QIgAER6a 206 SYIA 2IeE Q8e ?

A) 0.4 atm
B) 0.8 atm
C) 0.2 atm
D) 1.0 atm
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88) When forces acting on a body from the opposite direction do not change the state of rest or of
motion of an object, such forces are called as

A) balanced forces
B) unbalanced forces

C) mass
D) velocity

88) 60606Q6R IR 9g AT6R FARNIG AR QI AR IR IR ALIQ 2QQ A I0Q R A, 63T AR
@€ QRIAN ?
Techofworld.|
wasees 1 €CNOTWOTIA.IN
B) 21ag®e @@
C) ege
D) adeeq

89) How may types of Vitamin are included in Vitamin B?

A) 2
B) 4
C)6
D)8

89) acifie G6a 6REC gRIa GIFR UBE FAIAIRAISR ?

A)?
B) ¥
C)?
D)r

90) Which of the following statements is CORRECT regarding Smooth endoplasmic reticulum?

A) It consists mainly of cisternae

B) It bears ribosomes on its cytoplasmic surface
C) It takes part in the synthesis of protein

D) It takes part in the synthesis of lipids
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90) ga 1eaIgIRIie 6aGgar a6 FYAYE AUQ 6296 A0R 26E 7

A) ¥2l Qae Aadig 670 606 T e C h OfWO rl d -

B) 794 AR6HIIRIAR G 12| AIREIIERIA UAE R6R
C) el 6gIGea J6QAQ6Q 2rd GR6 @6Q
D) @l NadQa Q6QAa6a 2ra 9o Q6a

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World

Whatsapp/Call- 8596976190

1| D 31 |'C 61 | C

2| A 32| C 62| €

3|B 33| A 63 | D

4|C 34| C 64 | A

5|/D 351 A 65 | A

6| A 36 | A 66 | A

71D 37| D 67 | A

8 | 38| A 68 | B

9 € 39| B 69 | D
10 | C 40| A 70 | D
11| D 41 | D 11 | €
12 (B 42 | B 2.
13| A 43 | C 73 | A
14 | C 44 | D 74 | A
15|B 45 | A =M ®
16 | D 46 | D 10.1'C
17 | D 47 | B 77 | D
18 | B 48 | A 78 | B
19| B 49| A 19 |'C
20| C 50| B 80 | D
21| B 51| B g1 |C
22| 52|D 82 B
23 | B 33 | D 83 | A
24 | C 54| B 84 | A
25D 3 |'C 85| D
26 | D 56 | A 86 | C
27 | C 37 |.B 87 | A
28 [ C 58| B 88 | A
29 [ € 39| B 89 | D
30 | € 60 | A 9 | D
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